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Problem 1. (5 points) Determine whether the following matrix A is invertible

A =

2

4
2 1 �1
3 0 1
4 1 1

3

5

Problem 2. (5 points) Let A and B be matrices such that AB is well-defined. Show that if the
columns of B are linearly dependent, then so are the columns of AB.
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It's too warm !

as soll : row reduce [ It ! ] → I !
'

g) → LEO§ ]
pivot in each row & cot ⇐ invtbl

.

Sol 2 : detect ) = 21911 - 1211 - 13491

=  -2 t I -3=-4 to ⇒ invtbl
.

(2) B has tin
. deep . cot .

 ⇐ BE for some nonzero I
.

It

ABI '
= AT '

.
Hence AB also tin - dep.at .


